# UNH Durham 2020/2021 Undergraduate & Graduate Tuition & Fees

### **Undergraduate 2020/2021 Tuition**

	Per Semester	Per Year	Per Credit Hour	Continuing Ed
NH Resident	\$7,760.00	\$15,520.00	\$645.00	\$471.00
Out-of-State Resident	\$16,430.00	\$32,860.00	\$1,368.00	\$518.00
New England Regional Student Program1	\$13,580.00	\$27,160.00	\$1,130.00	
CEPS Engineering & Computer Science (students who began CEPS majors prior to Fall 2017) <sup>2</sup>	\$482.50	\$965.00	\$40.00	
CEPS Engineering & Computer Science (students who began CEPS majors Fall 2017 or later) <sup>2</sup>	\$717.00	\$1,434.00	\$60.00	
Peter T. Paul College of Business & Economics (students who began Paul College majors prior to Fall 2017) <sup>2</sup>	\$473.00	\$946.00	\$39.00	
Peter T. Paul College of Business & Economics (students who began Paul College majors Fall 2017 or later) <sup>2</sup>	\$692.00	\$1,384.00	\$58.00	
Music Majors <sup>2</sup>	\$450.00	\$900.00		

<sup>&</sup>lt;sup>1</sup>NERSP information and list of eligible majors can be viewed on the <u>NERSP website</u>.

<sup>&</sup>lt;sup>2</sup>Charged in addition to tuition rates for CEPS, PAUL, and Music majors. *Note: The increased Paul or CEPS rate level will apply if a gap in enrollment occurs.* 

# **Undergraduate 2020/2021 Mandatory Fees (12-20 Credits)**

Fee Description	Per Semester	Per Year
Student Activity	\$46.50	\$93.00
Health & Wellness Fee	\$198.00	\$396.00
Psychological & Counseling Services (PACS) Fee	\$98.50	\$197.00
Memorial Union	\$204.50	\$409.00
Student Recreation	\$402.00	\$804.00
Student Athletics	\$537.50	\$1,075.00
Career & Professional Success	\$45.00	\$90.00
Technology Fee	\$104.00	\$208.00
Transportation Fee	\$73.00	\$146.00
Total Mandatory Fees for 12-20 Credits	\$1,709.00	\$3,418.00

# **Undergraduate 2020/2021 Mandatory Fees (5-11 credits)**

Fee Description	Per Semester	Per Year
Student Activity	\$23.25	\$46.50
Health & Wellness Fee	\$99.00	\$198.00
Psychological & Counseling Services (PACS) Fee	\$49.25	\$98.50
Memorial Union	\$102.25	\$204.50
Student Recreation	\$201.00	\$402.00
Student Athletics	\$268.75	\$537.50
Career & Professional Success	\$22.50	\$45.00
Technology Fee	\$52.00	\$104.00
Transportation Fee	\$36.50	\$73.00
Total Mandatory Fees for 5-11 credits	\$854.50	\$1,709.00

<sup>•</sup> Mandatory fees are not charged for students registered for 4 credits or fewer. However, those students will be charged a technology fee of \$26.00 per term.

- For fee details, see <u>Information on Fees</u>.
- See Room & Board for current housing & dining rates

### **Graduate 2020/2021 Tuition**

	Per Semester	Per Year	Per Credit Hour	Cont. Ed.
NH Resident	\$7,085.00	\$14,170.00	\$785.00	\$550.00
Out-of-State Resident	\$13,905.00	\$27,810.00	\$1,368.00	\$605.00
New England Regional Student Program (NERSP) <sup>1</sup>	\$10,627.50	\$21,255.00	\$885.00	
CEPS Engineering & Computer Science (students who began CEPS majors prior to Fall 2017) <sup>2</sup>	\$482.50	\$965.00	\$54.00	
CEPS Engineering & Computer Science (students who begin CEPS majors Fall 2017 or later) <sup>2</sup>	\$717.00	\$1,434.00	\$80.00	
Paul College of Business & Economics (students who began Paul College majors prior to Fall 2017) <sup>2</sup>	\$473.00	\$946.00	\$53.00	
Paul College of Business & Economics (students who begin Paul College majors Fall 2017 or later) <sup>2</sup>	\$692.00	\$1,384.00	\$77.00	
Full-Time Music Majors <sup>2</sup>	\$450.00	\$900.00		
Master's Continuing Research (GRAD 900) <sup>3</sup>	\$500.00			

	Per Semester	Per Year	Per Credit Hour	Cont. Ed.
Doctoral Research (GRAD 999) <sup>3</sup>	\$1,000.00			
Continuing Enrollment (GRAD 800)	\$200.00			

<sup>&</sup>lt;sup>1</sup>NERSP information and a list of eligible majors can be viewed on the NERSP web site.

# Graduate 2020/2021 Mandatory Fees (9-16 credits; includes GRAD 900 and Grad 999)

Fee Description	Per Semester	Per Year
Health & Wellness Fee	\$198.00	\$396.00
Psychological & Counseling Services (PACS) Fee	\$98.50	\$197.00
Memorial Union	\$204.50	\$409.00
Student Recreation	\$402.00	\$804.00
Transportation Fee	\$73.00	\$146.00
Technology Fee	\$104.00	\$208.00
Total Mandatory Fees	\$1,080.00	\$2,160.00

<sup>&</sup>lt;sup>2</sup>Charged in addition to above rates for CEPS, Paul College, and Music majors. *Note: The increased Paul or CEPS rate level will apply if a gap in enrollment occurs.* 

<sup>&</sup>lt;sup>3</sup>GRAD 900 and GRAD 999 level courses are considered full-time. Full-time mandatory fees and health insurance charges will apply.

### **Graduate 2020/2021 Mandatory Fees (5-8 credits)**

Fee Description	Per Semester	Per Year
Health & Wellness Fee	\$99.00	\$198.00
Psychological & Counseling Services (PACS) Fee	\$49.25	\$98.50
Memorial Union	\$102.25	\$204.50
Student Recreation	\$201.00	\$402.00
Transportation Fee	\$36.50	\$73.00
Technology Fee	\$52.00	\$104.00
Total Mandatory Fees	\$540.00	\$1,080.00

- Mandatory fees are not charged for students registered for 4 credits or fewer. However, those students will be charged a technology fee of \$26.00 per term.
- See Information on Fees for fee details.
- Some programs charge reduced mandatory fees, which means that not all services may be covered.
- See Room & Board for current housing & dining rates

Source: UNH Business Services 3/4/2021